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ENINEAO |

(10 o€Aideg 30 epwTAOEIG)
INSTRUCTIONS TO CANDIDATES - OAHFIEE NMPOZ TOYE AIATONIZOMENOYE

For each question, choose and circle the best answer A, B, C, or D.
MNa k&Be epwTnaon, EMIAECTE KAl KUKAWOTE TN KaAUTEPN atmravinon A, B, I A A.

G OOD - LUCK
KAAH -ENNITYXIA

1 In which book of original entry will credit invoices issued be recorded?
A purchases journal
B purchases returns journal
C sales journal
D sales returns journal
1 2¢ o010 BIBAIO aPXIKWY £YYPAQWYV Ba KOTAYPAPTOUV Ta TTICTWTIKA TIHOASYIA

TTouU €KkO6ONKaV;

A HuepoAdylo ayopwv

B HuepoAdyI0 ETTIOTPOPRS ayopwv

r HuepoAdyio TTwAAoEWY

A HuepoAdyI0 €TTIOTPOPRAS TTWARCEWV
2 A Sales account will be found in the

A private ledger

B general ledger
C creditors’ ledger
D

sales ledger
2 To Aoyapiaopo MNMwARcEwWV ePTTOPEUPATWY Ba Tov BprTE OTO:
A TIPOCWTTIKO KABOAIKO
B YEVIKO KOBOAIKS
r KABOAIKO TTIOTWTWV
A KaBoAIKO TTwAACEWY



The total of the Discount Received column which appears in a Three
Columns Cash Book (Payments side) will be transferred to:

A The Credit side of Discount Received account
B The Credit side of Creditors account

C The Debit side of Discount received account
D The Credit side of Discount Allowed account

To &Bpoiopa NG oTANG AauBavoueveg EKTITwoelg TTou BpiokeTal oTnv
TTAEUPA TwV TTANPwWHWY Tou TpiaTnAou BiBAiou Tapeiou peTagépeTai:

A 21N TrioTwaon Tou Aoyapiacpol Aauavoueves EKTTTWOEIG

B 21N TrioTwon Tou Aoyapiaopou MoTwTég

r 21N Xpé€waon Tou Aoyapiacpou Aaupavoueveg EKTTTWoEIG

A >1n TTioTwon Tou Aoyapiacuou Xopnyouueveg EKTITWoEIg

The following was a list of assets and liabilities of a firm as at 31 December 2014.

Freehold Premises €80 000
Creditors €15 000
Debtors €25 000
Bank Overdraft € 8000
Stock €10 000
Cash in hand € 2000
Equipment €20 000
Commission received in advance € 4000

The firm’s Capital as at 31 December 2014 was:

A €112 000
B €104 000
C €110 000
D €118 000

Mo k&tw TTapaBétouue Ta oToIXEia EvepynTikou kai MNadnTikou piag
emixeipnong oTig 31 Aekepfpiou 2014.

ISIOKTNTEG KTIPIOKEG EYKATACTACEIG €80 000
MoTwTég €15 000
XpeWwoTeg €25 000
MapaTtpdpnyua € 8000
AméBepa €10 000
Metpntd 01O Tapeio € 2000
E€otTAIcNOG ypageiou €20 000

MpounBeia eioTrpakTéa TTpokaTaBoAlka € 4 000

To kepahaio Tng emixeipnong oTig 31 AekeufBpiou 2014 ATav:

A €112 000
B €104 000
r €110 000
A €118 000



Calculate the balance of Creditors account, using the following data:

Working capital €15 000
Fixed assets €60 000
Capital €75 000
Current liabilities (excluding creditors balance) €25 000
Current assets €45 000
The balance of Creditors account is:

A €5000

B €15 000

r €20 000

A €10 000

Na utroAoyioeTe TO UTTOAOITTO TOU Aoyaplaopou MOoTwTEG XPNOIMOTTOIWVTAG TA
1010 KATW dedopévar

Kegdhaio kivnong €15 000
Mayio evepynTikKO €60 000
KepdAaio €75 000
BpaxutpéBeapo Tabntikd

(xwpig 1o utréAOITTO TWV MIOTWTWV) €25 000
KukAo@opiakd evepynTikd €45 000
To utréAoimo Tou Aoyapiaouou MoTwTéG givar:
A € 5000
B €15 000
r €20 000
A €10 000

The monthly rent payable by a business for the use of a show room is €500.
During an accounting year the firm paid for rent €6 500. Which of the
following amounts represent the amount that should be transferred to profit
and loss account?

A €6 500
B €7 000
C € 500
D €6 000

To unviaio evoikio TToU TTANPWVEL PIA ETTIXEIPNON YIQ TN XPriON £VOG
kataoTrpaTog eival €500. Katd tn didpkeia evog AoyioTIKoU €Toug N
emyeipnon TANpwoe €6 500. Moo atd Ta TTapakATw TTOod Ba PETAPEPOE
OTO AOYOPIAOUO OTTOTEAECUATWY;

A €6 500

B €7 000

r € 500

A €6 000



The monthly premium for insurance paid by a business, to insure its premises
is €1 000. If the firm paid €11 000 for the first financial year, which of the
following will be shown on its Balance Sheet.

A Current assets €1 000

B Current liabilities €1 000

C Current assets €11 000

D Current liabilities €12 000

To unviaio ac@AAIcTPO TTOU TTANPWVEI N ETTIXEIPNON VIO TNV AC@AAION TWV
KTIPIOKWY TNG eykaTtaoTdoewv gival €1 000. Av yia To TTpwTO AOYIOTIKO £TOG N
emyeipnon TARpwoe €11 000, TToI0 aTrd Ta TTAPAKATW Oa TTapouCIaoTEl OTOV
IGOAOYITHO.

A KukAogopiakod evepynTikd €1 000

B KukAogopiakd tradntiké €1 000

r KukAopopiakd evepynTiko €11 000

A KukAogopiaké 1Tadntiko €12 000

You are given the following transaction: The proprietor took goods from the
business for his private use. Which is the correct way to record the above
transaction into the business’s accounting books?

Account to be debited Account to be credited
A Capital Purchases
B Drawings Purchases
C Capital Bank
D Purchases Drawings

2ag dideTal N Mo KATW ouvaAAayr: O eTmixelpnuaTiog THpE eUTTopeUPaTa aTrd
TNV €TTIXEIPNON YIa TTPOCWTTIKY Tou Xprion. H owaoTr eyypagn yia
Karaxwpnon TG cuvaAAayig autrg ota BIBAia Tng etmixeipnong eivai:

Noyapilaocpudg mou Ba XpewoOei Noyapilaouég rou 0a ToTWOEI
A KegpdaAaio Ayopég
B ATOUIKEG ATTONAWEIG Ayopég
r KegpdaAaio Tparmela
A Ayopég ATOMIKEG aTTOARWEIG

Using the Journal as a subsidiary book which one of the following transactions
will not be recorded in the Journal?

A Credit purchase of a fixed asset

B Credit sale of goods to a customer

C Write off a bad debt

D The owner took goods for his own use
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XpnolgoTtrolwvTag 1o NnUEPOAdyIo aav BonBnTikd BiBAio TTola aTrd TIg
TTapakaTw cuvaAayég Osv Ba kataxwpnBei e auTo;

A Ayopd TTaylou OTOIXEIOU PE TTIOTWON

B MwAnon eptTopeupdTwyY o€ TTEAETN WE TTIOTWON

r Alaypa@r] aTTwAEIEG XPEOUS

A O 1810KTATNG TTAPE EPTTOPEUATA YIO TTPOCWTTIKI) TOU Xprion

Mary bought a dress costing €600, shoes costing €100 and a jacket costing
€300. These are all subject to a trade discount of 10% and a cash discount of
5% if she pays within 30 days. How much will Mary pay in settlement of her
debt if she decides to pay promptly? :

A 850
B 900
C 145
D 855

H Mapia ayopace éva @opepa TTou KOOTIoE €600, TTaTToUTOIa TTOU KOOTIoOQV
€100 kai pia ¢akéTa Tou kKOoTIoe €300. OAa auTd Ta AvTIKEIPEVA £XOUV
eptropIkn €kTITWoN 10% Kal Tapiaky EKTTTwon 5% €dv TTAnpwBouyv ot 30
nuépeg. Méoa Ba mAnpwaoel n Mapia, yia TAKTOTTOINON TOU XP£OUG TNG €AV
amoQacioel va TTANpwaoel €ykaipa; :

A 850
B 900
r 145
A 855

At the end of the accounting period, the credit balance on the Provision for
Depreciation account is

A transferred to the profit and loss account

B transferred to the depreciation account

C subtracted from the asset account

D subtracted from the cost of the asset in the Balance sheet

2710 TEAOG MIaG AOYIOTIKAG TTEPIGOOU, TO TTIOTWTIKO UTTOAOITTO GTO Aoyapiacud
TPORAEYNG yia aTTéoBeon

A METOQEPETAI OTO AOYAPIOTHO ATTOTEAEOUATWYV

B METOQEPETAI OTO AoyapIaouO aTTéoReon

r agaipeital atrd To Aoyapliaouo TOU EVEPYNTIKOU

A agaipeital atrd To KOGTOG TOU EVEPYNTIKOU OTOV IGOAOYIOHO

Depreciation is

A a payment plan running over a period of time to provide cash to cover
the loss in value of fixed assets

B the amount an asset can be sold or traded for at the end of its useful
economic life

C a provision made in the financial statements for the allocation of the
cost of the fixed asset over its useful years of usage.

D a cash expense that spreads out over the useful economic life of the

fixed asset
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AtréoBeon givai

A éva ox€010 TTANPWUAG YIa MIa XPOVIKA TTEPIOdO yia va €xoupe diaBEaipya
METPNTA OUTWG WOTE va KaAU@BEei n {nuia oTn agia Twv evepynTIKWV
oTOIXEIWV

B TO TTOGO TTOU PTTOPEl va TTWANBET £va evepynTIKO GTOIXEIO 1 va
EUTTOPEUTEI OTO TEAOG TNG XPAOIUNG OIKOVOUIKNG TOU CWNG.

r N TTPORAEYN TTOU €YIVE OTIG OIKOVOMIKEG KOTAOTAOEIG VIO TN KATAVOUN)
TOU KOOTOUG €VOG OTOIXEIOU EVEPYNTIKOU aVAAOYQ PE T XPAOIUA XPOVIa
XPNOoIJoTToiNoNG Tou.

A £va TOUEIOKO £€000 TTOU BIGCKOPTTICETAI KATA TNV JIAPKEIQ TNG XPNOIKNNG
OIKOVOWMIKAG CWAG Tou evepynTIKOU GTOIXEIOU.

Luxia pays rent of €2 000 on her dress shop each year. During the

year ended 31 December 2014 she made the following payments: €500 on
31 March; €500 on 7 July and €500 on 28 October 2014. At 31 December
2014 her balance sheet would show:

A a prepayment of €500

B an accrual of €500

C a prepayment of €1 500

D an actual of €1 500

H Lyxia mAnpwvel yia evoikio €2 000 1o £T0G yIa TO KATAOTNHG eVOUCEWG.
Katé tn didpkeia Tou £€Toug TTou TeAelwvel 31 AekeuBpiou 2014 éyivav ol €€AG
TANpwéG: €500 Tnv 31 MapTiou; €500 Tnv 7 louAiou kai €500 Tnv 28
OxkTwppiou 2014. Tnv 31 Aekepppiou 2014 o iIcohoyiopdg TnG Ba deixvel

A TTpoTTANnpwun €500

B opelAdueva €500

r TpoTTAnpwun €1 500

A opelAdpeva €1 500

Accrued income would be shown on the balance sheet as:

A a current liability
B a current asset
C a fixed asset

D drawings

OgpelNopeva ei00druaTa Ba epeavicbouv aTo IcoAoyIoud oav
KUKAOQOPIKO TTaBNTIKO

KUKAOQOPIKS EVEPYNTIKO

TTAYIO EVEPYNTIKO

TIPOCWTTIKEG ATTOANWEIG

> W >
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A business with financial year end 30 of June, buys a non-current asset on
the 1 of July 2012 for €200 000. Depreciation is charged at 15% per annum
on the diminishing balance method. On 30 of June 2014 the net book value
of the asset in the balance will be:

A € 30000
B €170 000
C €144 500
D € 55500

Mia etTixeipnon pe olkovouiko £10¢ TTou Arjyel oTig 30 louviou ayopace éva un-
Kukho@opouUv evepynTiko Tnv 1 louAiou 2012 yia €200 000. H amdéofeon
utroAoyiCete o 15% Tov Xpovo pe mn ¢Bivouca péBodo. 2Tig 30 louviou 2014
TO OTOIXEIO EVEPYNTIKOU OTO ICOAOYIOHO Ba £xel kKaBapr agia:

A € 30000

B €170 000
r €144 500
A € 55500

Which of the following should be treated as capital expenditure in the
accounts of a sole trader?

A €100 taken by the proprietor to buy himself a HI — FI system

B €500 on purchasing goods for resale

C €800 on purchasing a new computer for his secretary

D €150 paid to a painter for redecorating his office

Moio atrd Ta akdAouba BewpeiTal KEPAATIOUXIKT daTTGvn 0TOUG AOyapIaouoUg

EVOG eTTIXEIPNMATICA

A €100 TToUu €xe1 TTApPEl 0 IBIOKTATNG YIa TTPOCWTTIKA ayopd evog
ouoTuartog HI — FI

B €500 TTOoU §OdEUTNKAV VIO AYOPd EUTTOPEUNATWY VIO JETATTWANGCN

r €800 110U £0deUTNKAV YIa ayopd evOg VEOU UTTOAOYIOTA yia TN
ypouuaréa Tou

A €150 1Tou TAnpwOnKav e £va PtroyiaTdn yio avakaiviaon Tou ypageiou

Working Capital is the excess arising:

A. From Assets minus the Liabilities

B. From Current Assets minus the Current Liabilities
C. From Fixed Assets minus the Current Assets

D. From Current Liabilities minus Current Assets

17 Ke@dAaio Kivioewg gival N UTTEpoXA TTOU TTPOKUTITEl ATTO:

2ToIxEia evepynTIKOU WEiOV aTolxEia TTaBNTIKOU
KukAogopiokd evepynTikd PEIOV KUKAOQOPIOKOS TTABNTIKO
2100ep0 evePyNTIKO PEIOV KUKAOQOPIAKO EVEPYNTIKO
KukAo@opiakd TTabnTIKO HeioV KUKAOPOPIAKO EVEPYNTIKO

BPOm>



18 A trader supplies the following information:

Capital at start of the year €40.000

Capital at end of the year €60.000

Drawings during the year €12.000

Additional capital introduced during the year €20.000
What is the net profit for the year?

A. €20.000
B. €28.000
C. €32.000
D. €12.000

18 ‘Evag €uTropog pag divel TIG TTIo KATW TTANPOPOPIES:

Apxik6 Kegpahaio €40.000

TeAiko kepdAaio €60.000

MpoowTrikég ammoAnyeig €12.000

EmmpdoBeTo kepdAaio katd Tn didpkela Tou £Toug €20.000.
Ti gival To €TACI0 KABAPS KEPDOG;

A. €20.000
B. €28.000
. €32.000
A. €12.000

19 Which of the following is not recorded on the debit side of a creditor account?

A. credit purchases
B. discount received
C. payments to creditors
D. purchases returns

19 Molo atrd Ta akdAouba dev xpeWVETAlI GTO AOYapPIaCHO VOGS TTPOUNBEUTH;

Ayopég ue TTioTwon
EKTITWOEIG EI0TTPAKTEES
MANpwpEg OTO TOTWTA
EmmoTtpo@ég ayopwv

BPOm>



20 From the following list of balances find the working capital as at 31 December

2014.
Non-current (fixed) assets €60.000
Interest receivable in advance €1.000
Loan from J. John (2020) €10.000
Inventory (Closing stock) €2.000
Sundry creditors € 5.000
Stock of stationery €500
Trade receivables (Sundry debtors) €9.000
Capital €57.000
Bank overdraft € 5.000
Cash in hand € 500
Bills receivable € 6.000
A. €9.000
B. €8.000
C. €12.000
D. €7.000

20 AT6 Tn 1Mo KATWw KaTdoTaon utroAoiTTwy va Bpeite To Ke@EAalo Kivnong oTIg
31 AekepBpiou 2014.

Mn-kukAo@opouv ([ayio) evepynTiKO €60.000
TOKOI EI0TTPAKTEO! TIPOKATARBOAIKA € 1.000
Adveio atd Tov J. John (2020) €10.000
TeAIKO amTéBeua EUTTOPEUPATWV € 2.000
AIGopol TTIOTWTEG € 5.000
ATé0epa ypa@ikng UANG € 500
AIGQOpPOI XPEWOTEG € 9.000
Kepdhaio €57.000
Tpatreiko TTapaTpdpnyHa € 5.000
MeTpntd € 500
pauudTia eI0TTPaKTEN € 6.000
A. €9.000

B €38.000

. €12.000

A. €7.000
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Anna provides the following information:

Sales €50 000
Cost of goods sold €25 000
Net profit €7 000

What are Anna’s expenses?

A. €18000
B. €25000
C. € 8000
D. €22000

21 H Avva pag apéxel TIG o KATW TTANPOPOPIES:

22

MwAnoeig €50 000
KbéoTog Twv TTwAAcEWV €25 000
KaBapod képdog €7 000

Méoa cival Ta €€0da TG Avvag;

A. €18 000
B. €25000
. € 8000
A. €22 000

Andreas keeps a petty cash book on the imprest system with a float amount of
€100. The book is balanced weekly and is restored on the first day of the
following week. Andrea’s petty cash expenses for a week totalled €85. Which
entries record restoration of the float amount?

DR CR
A. cash book €85 petty cash book €85
B. petty cash book €15 cash book €15
C. cash book €100 petty cash book €100
D. petty cash book €85 cash book €85

22 O Avdpéag xpnolhoTrolei To oTaBepd CUCTNHA YIA TO PIKPO TOU TAMEIO, HE

o1aBepd ood €100. To piIkpS TapEio giowveTal kabe eBdopada kal To TTO0O
avaBewpeitar kaBe Acutépa Tpwi. Ta £€oda piag efOouadag nTav €85. Me
TTOI0 £YYPOQr) Ba avaBewprioel TO HIKPO TOU TAWEIO;

Xpéwon MioTwon
A. Tapeio €85 Mikpo Tapgio €85
B. Mikpé tapyeio €15 Taueio €15
. Tapueio €100 Mikp6 Tapegio €100
A. Mikpé Tapcio €85 Taueio €85
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Which transaction affects the amount of working capital?

cash paid into bank

cash paid to a creditor
purchase of premises on credit
purchase of stock on credit

Cow»

Moia ouvaAAayr] eTNPeadel To KEQAAQIO KIVIOEWG;

KartdBeon perpntwv

MAnpwwn evog TTpounBeuTr o€ PeTpnTd
Ayopd akiviTwy e TTioTwon

Ayopd EUTTOPEUNATWY E TTIOTWON

BPOm>

An item of revenue expenditure has been incorrectly treated as capital
expenditure in the accounts of a business. What effect will this have on the
accounts?

Net profit Assets
A. Decrease Decrease
B. Decrease Increase
C. Increase Decrease
D. Increase Increase

‘Eva Aermoupyikd £€000 KaT@ AGBOG TO XEIPIOTAKATE 0AV KEQAAQIOUXIKO ££000.

T etridpaon €ixe autd oToug Aoyaplacpoug;

KaBapd képdog Evepynrikd
A. Meiwon Meiwon
B. Meiwon Augnon
r. AUEnon Meiwon
A. Augnon Augnon

Sales for the year are €250 000. Gross profit €50 000. Opening stock is
€18 000. Closing stock is €22 000. Returns inwards €10 000 and carriage
inwards €2 000. What are the purchases for the year?

A €170 000
B €190 000
C €202 000
D €192 000
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O1 TwARoeig Tou £Toug eival €250 000. To pIkTo kKEPDOG eival €50 000. To
apxIKO atréBepa gutropeupaTwy eival €18 000. To TeAkd ammdBeua eival
€22 000. EmoTpogég TTwAnoewy €10 000 kai peTagpopikd ayopwv €2 000.
Mbéoeg cival ol ayopég Tou £TOUG;

A €170 000

B, €190 000
r, €202 000
A €192 000

On 1 July 2011 a firm purchased a new machine for €16 000. The estimated
useful life is 5 years and the estimated residual value €1 000. Using the
straight line method of depreciation and the indirect way of keeping the
accounts, what will be the net book value of the machinery in the balance
sheet as at 31 December 2014?

A €10 500
B €5 500
C €4 000
D €15 000

Tnv 1 louAiou 2011 n emixeipnon ayépace yia kaivoupyla unxavn yia €16 000.

H Cwn Tng uttohoyioTnke o€ 5 xpdvia kai n uttoAerrépevn agia o €1 000.
XpnoigotrolwvTtag Tn oTabepn pEBodo amdoBeong Kal Tov EUPESO TPOTTO
TAPNONG TWV Aoyapiacpwy, Troia Ba gival N kabapr| agia Tou unxavAuaTog
oTov IooAoyiopd oTig 31 AekeufBpiou 2014;

A €10 500
B €5 500
r €4 000
A €15 000

Capital expenditure is:

A. money brought into a firm by its proprietor

B. expenditure incurred to finance the day-to-day operations of a firm

C. expenditure incurred on the acquisition or improvement of fixed assets
D. none of the above

KepaAaiouxikr} datrdévn givai:

A. To 11006 TTOU €I0£QEPE 0TV ETTIXEIPNON O IBIOKTATNG

B. H damdvn mmou xpnuatodoTei TIG KaBnuePIVEG AEITOUPYiEG TNG ETTIXEIPNONG

. Hdamdavn TTou yiveral yia Tnv ammoktnon A n BeATiwon Twv TayIwv
OTOIXEIWV EveEPYNTIKOU

A. Kavéva atréd Ta 1o Tavw

Formatted: English (U.K.)
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A day’s total sales returns of €100 was posted from the day book to the debit
of the sales account. As a result, the gross profit of the business was:

A overstated by €100

B understated by €200

C overstated by €200

D No effect

O1 ouvoAikég emoTpoPEéG TTwARoewy €100, KataypaPTNKav atrd TO NPEPTTIO
BIBAio TTIOTPOPWV TTWAATEWY OTN XPEWOT TOU AOYOpPIaoHoU TTWARTEWV.
AUTO €xel oav aTTOTEAECUA TO MIKTO KEPDOG TNG €TTIXEIPNONG VA

A uTTEPTINNOEI kKaTd €100

B utroTIunB¢i katd €200

r uTTEPTIMNOBEI KaTd €200

A Kapia etTidpaon

Which one of the following pairs of ledger accounts are real accounts?

A Premises and rent payable

B Cash in hand and cash at bank
C.  Share capital and debtors

D Advertising and interest received

Moi6 atrd Ta akdAouba Ceuyn Aoyaplacuwy €ival TTPAYHATIKOi AOyapIaoHoi;

AkivnTa Kai evoikia TTAnpwTéa
MeTtpntd ka1 TpdtTeCa

MeTOXIKO KEQAAQIO KOl XPEWOTES
Alo@npio€Ig Kal TOKOI EI0TTPAKTEOI

Powy

A motor van costing €15.000 has an estimated scrap value of €1,000. It is to be
depreciated at 40% per annum using the reducing balance method. What is the
charge for depreciation in the second year of its life?

A. €6000
B. €3360
C. €3600
D. €2560

AuTtokivnTo pe k6oTog €15.000 €xel uttoAoyI(OPEVN uTTOAEIMpaTIKA agia €1.000.
AtrooBéveral ye 1000010 40% xpnoigoTroiwvTag T eBivouca péBodo. lMolo Ba
gival To £€£000 amoofeong To OeUTEPO £TOG TNG CWNAG TOU;

A. €6 000
B. €3360
. €3600
A.  €2560



